Honors Geometry Name
Sections 4.1 -4.3 Date Period
Review Applications

L. AABC = AABC, m<C=(Bx—-40)’andm < " = (2x — 10)°.Find m < C.
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2.INAABC, m < A = 48°and m < C = 24° What type of triangle is AABC?
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3.Inthe diagram, AC = DC = B.If them < ACD = 48°, find the m < B.
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. Find the value of x.
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5.)The midpoints of the sides of AABC are labeled D, E and F. If the perimeter of ADEF is 24, find the perimeter of

AABC. E)
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6. Find the m < DBC. \
N T oxPrax+l X Tr] t3xtG

&Y
// X -x-6=0

A B i ’(K“5XXT'3):O
k=% X &




7. The vertex angle of an isosceles triangle measures eight times the measure of a base angle. Find the measure of a
base angle. "

EX
10X = 180

X X =5
8.In AABC, m < A = 60°and m < B = 40°. Which side of AABC is the longest?
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9. In AABC, < Ais obtuse. Which statement is true about the sum of the measures of < B and < C?

A.m<B +m<C = 90
g m<B +m<C > 90

1<B +m<C < 90
P, m<B +m<C = 180
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10. In the figure below, EZ = Eand m X = 117%Find'm < Y.




